Date: 16.10.2021

## <u>Cancellation of locations in the Advertisement published in the website</u> <u>www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail</u> <u>Outlet (Petrol Pump) Dealerships" by IOCL on 25.11.2018/14.12.2018</u>

An Advertisement was published by (Indian Oil Corporation Limited) on 14.12.2018 in the website <a href="www.petrolpumpdealerchayan.in">www.petrolpumpdealerchayan.in</a> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State/ UT of Madhya Pradesh with Sl. no 1 to 3392. The Locations with Sl no 1840, 1410, 1491, 3131, 3133, 3135, 1354, 1358, 1359, 1369, 1389, 1569, 1570, 1615, 1611, 1400, 1353, 1386, 1402, 1429, 1540, 3053, 3298, 3038, 1836, 2577, 3143, 3144, 3211, 145 & 1391 as mentioned below, stand cancelled:-

S.N.	Name of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential	Category	Type of Site*	Minimum I In M)/Area SQM)			Finance to by the app	be arranged licant	Mode of Selecti on	Fixe d Fee/ Mini mum Bid Amo unt	Securi ty Depo sit
1	2	3	4	5	6	7	8			9a	9b	10	11	12
					Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/ OBC CC 1/OBC PH/OPEN/ OP EN CC 1/OPEN CC 2/OPEN PH)					Estimate d Working Capital requirem ent for operation of RO	Estimated fund requirement for Developme nt of Infrastructur e at RO			
			Regular /Rural	MS+HS D in Kls		CC/DC. /C FS	Frontage	Depth	Area			Draw of Lots		

												1		
1840	Within municipal limit of Puspraj Garh	Anuppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1410	Between Km. Stone No. 115 to 118 on SH 37	Damoh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1491	Between Km Stone No. 65 to 70 on SH 37	Damoh	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3131	Village Hindoria on Patera MDR road Tehsil Damoh	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
3133	Between Village Jagthar and Village Kerbana Tehsil Batiyagarh	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3135	Upto 5 Km from Village Fatehpur Bus Stand on Hatta Road Tehsil Batiyagarh	Damoh	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1354	Dindori Bypass on SH 22	Dindori	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1358	On either side of Km Stone No 90 to 100 while going from Jabalpur to Amarkant ak SH 22	Dindori	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

1359	On either side of Km Stone No 160 to 170 while going from Jabalpur to Amarkant ak SH 22	Dindori	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1369	On either side of Km stone No 65 to 75 while going from Jabalpur to Amarkant ak SH 22	Dindori	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5

1389	On either side of Km Stone No. 200 to 210 while going from Jabalpur to Amarkant ak SH 22	Dindori	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1569	On either side of Km Stone No 120 to 130 while going from Jabalpur to Amarkant ak SH 22	Dindori	Regular	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5

1570	Upto 5 Kms from Dindori Bus Stand towards Mandla on Dindori Mandla Road SH 40	Dindori	Regular	100	OBC CC 1	DC	35	45	1575	25	60	Draw of Lots	15	4
1615	On either side of Km Stone No 80 to 90 on SH 40 Mandla to Dindori Road	Dindori	Regular	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1611	Between Km Stone 135 to 140 towards Amarkant ak on SH 22	Dindori	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

1400	Between Km Stone No. 85 to 90 on SH 48	Katni	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1353	Between Km 8 to 15 on SH 11 from Mandla towards Bamhani.	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1386	Upto 5 Kms towards Dindori from Yogiraj Hospital (Mandla) on Mandla Dindori Road (SH 11)	Mandla	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1402	Upto 5 Km from Jamgaon Railway crossing towards Nainpur on SH 11	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

1429	Within 3 Kms on either side of SH 11 from Junction of SH 11 and SH 11 B.	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1540	Between Km Stone 27 to 35 on SH 11 towards Dindori on Mandla Dindori Road SH 11	Mandla	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3053	Village Babaliya on Niwas Mandla Road Tehsil Niwas	Mandla	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

3298	Village Ghutas on Bichchia Dindori Road Tehsil Bichhiya	Mandla	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3038	Between Km Stone 26 to 31 on Gadarwar a Tendukher a Road Tehsil Tendukher a	Narsingh pur	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1836	Ring Road (from toll Plaza towards Rathera on Rathera Silapara Bypass)	Rewa	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

2577	Village Bans ( Lalgaun to Katra Road) Tehsil Mangawa n	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3143	Village Itaura(Re wa Sirmaour Road Via Baikunthp ur) Tehsil Huzur	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3144	Village Madari on Lalgaon to Katra Road Tehsil Sirmaur	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

3211	Village Paipkhara (Rewa Sirmaour Road Via Baikunthp ur) Tehsil Raipur Karchuliya n	Rewa	Rural	46	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
145	Village Keoti ( Sirmaur to Katra Road ) Tehsil Sirmaur	Rewa	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1391	Up to 4 Km from Railway Bridge on Singpur Road towards Singpur on SH 09	Shahdol	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 14.12.2018 remains unchanged.